Time : 3 Hours Marks : 160

Instructions : )

(i) Each question carries one mark.

B8 PH% a8 Srdy), Sod.

(i) Choose the correct or most appropriate answer from the given options to the following
questions and darken, with blue/black ball point pen the corresponding digit 1,2, 3 or 4
in the circle pertaining to the question number concerned in the OMR Answer Sheet,
separately supplied to you.

805 7S B8 BH WS FES* HOGS ISFFTIINH IENED TID Srdod
®o8 1, 2,3 8¢ 4 3 adyd OMR 38758 Higsns® @Hg HSowohods Dopgiie
DEES wr/arf oS FowcdS DY) SIBTAOD VoS8,

BOTANY
. Protein molecules that form huge pores in the membranes of the plastids, mitochondria
and some bacteria are called as
(1) Stomata (2) Porins (3) Coherin - (4) Subarins
FBe0, P&'oBcir HBch ) erfbcire fndimrod* (@5 v DY borrod
AYETon. B ot
(1) DHgdoigren (2) &Fomen (3) b (4) Ho=b8

2. A prerequisite in the tissue culture experiments is to sterilize the culture medium in an
autoclave to prevent the microbial contamination
The desired autoclaving conditions set are: .
(1) 121 °C, 30 pounds of pressure for 15 min
(2) 121 °C, 15 pounds of pressure for 30 min
(3) 121 °C, 15 pounds of pressure for 15 min
(4) 130 °C, 30 pounds of pressure for 30 min

Soare 53 PArmod® FiE criTd) siiESs’ rgds dirdo Boho vd vIdso.
8BS & FoPedh HoREey sTd

(1) 121°C, 30 rog H&550 15 e 56%

(2) 121°C, 15 2og H&550 30 ddodre 565

(3) 121 °C, 15 2og Hd55» 15 3oy 36

(4) 130 °C, 30 2rod Hd550 30 dddTe 568

Rough Work
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The phenomenon of replacement of sexual reproduction with asexual reproduction is called 6. Ini
(1) Vivipary (2)  Apomixis infl
(3) Karyogamy (4) Syngamy patt
Bohs H&gd8 whenm wBohs PHdgEE =00 G)ithiosrd) JS0dr? (1)
(1) 2330 (2) ©dodrl adsso/eFIS (3)
(3) So|8¥ Hodrrdmn (4) Hoolng HodriSuw &
4. Match the following lists P
List - | . List - 11 (1)
A)  Legume I} Endosperm
B) Drupe Iy  Juicy succulent placental hairs of endocarp ()
C) Caryopsis II) Cotyledons -
D) Hesperidium [V) Succulent perianth 7. Wh
V)  Mesocarp (1)
1Bod HBsod 280Gy 08 (3)
HEE - 1 5838 - 11 _ & ¢
A) Eﬁac‘dﬁ DOO . I =0 &ﬁﬁ&d;’n) 0
B) Bo¥ fe Jeoo [[) wodipefidod™n docind, o068 (1)
wodagsd STen 3)
C) 559 dufo ) dHedeewn et
D) 208005 IV) 83¢568 $8deen 8.  mE
: V) ool g5 N
The correct match is : m
28 908 =d . 1)
A G D ’ _
(1) I \Y nn Vi
(2) 1o I VvV N EMI
3) N 1l 1 N
®) @ @ @ ! II)
5.  Catabolism of long chain fatty acids occur in ' 1)
(1) Glyoxysomes (2) Peroxysomes V)
(3) Carboxysomes (4) Ribosomes : The.
FEY Foodo 8 siro NE)ED IE,E 2rbS? )
(1) aedatSe 2) DogRrSien Lo
(3) som§EtSien | (4) BS*Foen (1)
Rough Work Rough W
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lled ' 6. In racemose type of inflorescence, the subtype that exhibits all the flowers in the
inflorescence are brought to the same height due to varied lengths of the pedicels and this
pattern is called as

(1) Capitulum or head (2) Simple umbel

(3) Corymb (4) Compound umbel

& G528 Dgrgdd PR ITgHod’ PHySHoere I I FEHS sodbo So
Ao 28 INS' 850 Gobrow. HIV ot rd?

(1) 3458 3% dgdo Br sghigoD (2) 966 K

(3) 503D (4) o8 rougysw

7. Which one of the following RNA polymerase subunits recognise and binds to promoter?
(1) o -subunit (2) B -subunit
(3) v-subunit (4) o -subunit
& 8od RNA 93004 sdphirerod® J ¢ddsradn Harbss Hod ods* 20880
wHehod

Sod (1) o- edpsreoo (2) B -edHsreo

(3) v- &d@pdrno (4) o-a6ddSrao

8. In EMP pathway, ATP is directly formed in the conversion of

) Fructose 1, 6 - bisphosphate to glyceraldehyde - 3 - phosphate

[Ty Phospheenolpyruvate to pyruvic acid
| Il) 1, 3-bisphosphoglyceric acid to 3 - phosphoglyceric acid

IV) 3 - phosphoglyceric acid to 2 - phosphoglycerate

EMP 550e5* & §ob o8 28 bdﬁ&.‘ﬁi)jci:_ ATP 50:@:’:3:: =atfdod
D @E5 1,6 08 &yt $00 @30gs -3 - P
IT) @'ﬁ‘;]ém‘*ﬁ DS Sood ErIE w0
Im 1,3 ﬂﬁaﬁ'ﬂbﬁﬁﬂg @00 fod 3 - &e‘d‘aﬁéﬂg 00
V) 3 S)A385 edyo Sood 2 - SIS
The correct combination is:
28 S0 =4 ¢
(1) VI (2) LIV (3) mL,u (4) LI

Rough Work
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9. Assertion(A): One should encourage local clubs or school groups to build artificial 11. Us
habitats such as butterfly gardens, bee boards and bee boxes. pai
Reason(R):  These measures are necessary to protect pollinators. )
(1) Both (A)and (R) are true, (R) is the correct explanation of (A)
(2) Both(A) and (R) are true, but (R) is not the correct explanation of (A) (3)
(3) (A)istrue but (R) is false oK
(4) (A)is false but (R) is true
Ao (A): FIE Doged’ FETous’ bersEles s'bod 838K Dodso 5o =
GO@Erhod Jorw, B8 TEFR) @FEiroTd. (1)
sdmo (R): & Piden S0 Hodl), SFfchsded ol wldddo 3)
(1) (A) Soboso (R) Todor H0g0SE, (R) oda (A) 5 D058 D60
(2) (A) 5805 (R)Todr 86053, 523 (R) 638 (A) % $0G0S d86m 56
(3) (A)%8g056 5 (R) 8y 12. ITIa|
(4) (A) 853 59 (R)$0GHSH alie
10. Match the following lists: M
List- I List- 1 G)
A) SyntheticAuxins I)  Synthesised in large amounts in senescing tissues and 2a2ad
ripening fruits afant
B) ABA II) Delays leaf senescence 9o«
C) Gibberellins Ill) Increases the length of the sugarcane stem
D) Ethylene IV) Used to kill dicotyledonous weeds, does not affect mature (1)
monocotyledonous plants (3)
V) Stimulates the closure of stomata
ol SBeoin 28380 : .
5686 - 1 588 - 11 3. Com
A) Doghd wfySen ) &¢sgnd '3y Emarorud® b S80 Fod labor
Perodt J5 S Hbdracd® Jodhn adhdod (1)
B) ABA ) 3¢ agsg sodgnhsod (3)
C) 2eddsex IIl) BHs& sodo FEH ERdesS” S'Eydadiod oGk
D) 2505 V) &36¢ ba g Ing o Tiso BoLEIE e, N
D0DE JEGEE D DoF o W6 B0 HarSo wSrd Wil
V) 38 Coen Sorsossad) 569308 1)
The correct match is : 3)
ab S99 ad
A B C D
(1) V £ 1 Il
g; % @ @ fé Rough Wor
(4) ' I
f—=1
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i

Use of a complementary RNA molecule to prevent another mRNA molecule from
participating in translation there by preventing the expression of a gene is termed as:

(1) Biopiracy (2) RNA interference

(3) DNA finger printing (4) ' Gene therapy _

28 Bords RNA emodd e0d@riod 368 mRNA wmodid efiardod &' Sdabioa
s 2y Sg8sdeds 10 I B Ddotrd

(1) a&»28d (2) RNA 5g888e08
(3) DNA 30 Sx@em (4) ag 284
12. In a phenomenon where heterozygotes have features of both the homozygotes, that is, an
allele is neither dominant nor recessive to the other. Such a phenomenon is termed as:
(1) Codominance (2) Pleiotropy
(3) Test cross ' (4) Dominance
DABe cufprer 238 Sdo By, Dok vEsrol E)fgdrdos® Erbow, wod
cSuMDEonen wiTFEd atrddand) 50 woddd da2d) 5 S, & Eyfisdaird)
RESTTR -
(1) Soairddsgsn (2) wirod Hersd
(3) Dbg HoEbeadn (4) wrdadisen
13.  Commercial product “Agar” which is used in “ice creams™ and to grow microbes in the
laboratory is extracted from
(1) Laminaria and Polysiphonia (2) Porphyra and Sargassum
(3) Gelidium and Gracilaria (4) Marchantia and Polytrichum
pREHDe Scoirbes’ Hbsn PAriTes’ drgidge DodEcE o TBaghdor ¢HArKSE
2808 28 Hod w&yHBoHdod
(1) oroIocshr Sodcin >OPPFIar (2) FBYor Sobatn BOHR
(3) BO&cHI Sobasw ThOLS (4) Socopohcir Sobcin FOBES
Rough Work
Al
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16. Assertio
14. Assertion (A): Vessels are the main water transporting elements and devoid of protoplasn Reason (
Reason(R):  Sieve tube elements are long tube-like structures, arranged longitudinally (1) Bo
and are associated with the companion cells ° (2) Bo
(1) Both(A)and (R)are true, (R) is the correct explanation of (A) (3) (A
(2) Both(A)and (R) are true, but (R) is not the correct exp]anatmn of (A) (4) (A
(3) (A)istrue but (R)is false o (
(4) (A)is false but (R) is true 5820 (
Afgo (A): oo Ty A8 PIdn TR PES roses ocsn DS a5dergo (1) (4
S DH5308. (2) (4
s620 (R):  T0d Toren PEYM Fiowr G608 Joyres. 8D Dend SHHS' 50 (3) {i
dirferod® 9D Gotron (9.4
(1) (A)%00%0 (R)Todr $0HS3, (R) 638 (A) & 0608 256w s fgm
(2) (A) S80S (R)Bodr $B@SS, 0 (R) w38 (A) S 5008 D88 5°& (1)
(3) (A) 585058 59 (R) 8% o5, %
(4) (A) 85y 2 (R) 5083056 aglesby)
) 1) 3
15. Assertion (A) : Heartwood does not comprise dead elements without any lignified walls. ()
Reason (R):  The peripheral region of the secondary Xylem is lighter in colour and is 1 8. Matct
involved in the conduction of water and minerals from root to leaf. 1
(1) Both(A)and (R)are true, (R) is the correct explanation of (A) g% -
(2) Both(A)and (R) are true, but (R) is not the correct explanation of (A) o)
(3). (A)is true, but (R) is false . ) D)
(4) (A)is false, but (R) is true The ¢
AEo (A): ®odTHY S Sarwsten Dboin OMS wdEomr EOAS Adods 08 8ob
Shoddd
$620 (R):  8g8oH T Bewdd &Ko B Sos* Gobood. ad 36 Hod HE-ds A)
2070 O, PdFre BdG0s” STotood E’l
(1) (A)%00ckn (R)Bodr $05053, (R) wdb (A) S 56508 256w D])
(2) (A)%:8cs0 (R)Bodr $0ghS3, 5 (R) w38 (A) & 6608 DS 56 The
(3) (A)38cHI6 523 (R) 85y 2l
(4) (A) &5y 52 (R) 905058
(1)
(2)
Rough Work (3)
(4)
(=
AM 2017 8§-A M 2017
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16. Assertion(A): Exonsare coding sequences of a DNA.
Reason(R):  Intervening sequences appear in mature RNA.
(1) Both(A)and (R) are true, (R) is the correct explanation of (A)
(2) Both(A)and (R) are true, but (R) is not correct explanation of (A)
(3) (A)istrue but (R) is false
(4) (A)is false but (R) is true
Mo (A): DNA &* Sggfodly edHEsiros JsmSa wolrds
g0 (R): 5838 RNA &° wodoroh sEsdren §dD00%
(1) (A) %805 (R)Bodr 586053, (R) 836 (A) & 58508 956w
(2) (A) %803n (R) Bodr J0GLET, 57 (R) 838 (A) K 38608 D580 526
- (3) (A)D858 5 (R) &5y
(4) - (A) 833 52 (R) 505058
|7 Some plants like Viscum and Striga send roots into the xylem of the host plant to get water
and minerals. Such roots are called as
(1) Velamenroots (2) Nodularroots (3) Stilt roots (4) Haustorial roots
D0 $Boin (Poxdered ) Ing)eo A, plEro FRoSEIs T8 3% w8Fox
TEHHS'VE BodhFow. werod D JSookrE?
(1) S0 Bdnﬁ (2) w08 3d:=ﬂ (3) &ss 3dah (4) TEORS 3&.‘4”
18. Match the following lists.
List- I List- 1T
A) Ribozyme [) Lacoperon
B) Friedrich Meischer I) DNA as genetic material
C) Alfred Hershey and Martha Chase |, IIl) Catalytic RNA molecule
D) Francois-Jacob IV) DNA is acidic substance
The correct match is:
Bod dsod 2dHG)0b !
53¢ -1 388 - 11
A) BEED ) of adoes
B) (&8 3oonis I[) DNA s asog dorgo
0 w&@E b Hocsw Srg; BF ) @68 RNA w3
D) |@roscnd =ES IV) DNAe2E s ¢omd) 898 éobnod
The correct match is:
28 D08 24 :
A B C D
(1) 1 I\Y I I
(2) I I A% I
3) I 1 1l
4) I 1 I I\
P
AM2017 - 9-A
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19. Match the following lists:

A)
B)
0
D)

\Bod Tﬁégﬁﬂ:&) méﬁﬁaoﬂ !

A)
B)
C)
D)

List-1
CrylAc
Agrobacterium
Male sterility
Cry 1 Ab

D8 - 1

Cry 1 Ac
gFer§ooio
DEA Sodgdesn
Cry1 Ab

The correct match is:

20 W0 24 ¢

A° B C
1n v o1
@ m I I
g m v I
(49 W m n

— < < 35U

szEE>=

S <4 858

List-IT

Corn borer
Transgenic Brassica
Ti plasmuid

Cotton bollworms
Transposon

ISR

5°5) 568

sy H058E row
Tiar&

08 erdad)

Ery s

20. Many carpels are free and each carpel of apocarpous gynoecium develops into a fruitlet in

(1)
(3)

Oryza sativa
Annona squamosa

(2) Acaciaarabica

(4) Vitis vinifera

82e5" w3 Doderen 'ﬁaﬁdgn'ér, wdoaingomrsy wobd P8 Jod¥o o8 D Hoom
@5};5;]% Dodadooh

(1)
(3)

a0 ﬁ@&‘i

s ;M LAr>

(2) wEholr wods

(4) 288 230

Rough Work
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21. Assertion(A): In CAM plants, carbondioxide is trapped by highly efficient PEP
carboxylase.
Reason(R): - CAM plants do not fix carbondioxide during night.
(1) Both (A)and (R) are true, (R) is the correct explanation of (A)
(2) Both (A)and (R) are true, but (R) is not the correct explanation of (A)
(3) (A)istrue but (R) is false
(4) (A)is false but (R) is true
o (A):  CAM g, od" «8E dgSos3d PEP sopdBd, CO, % wodothdod
s*dmo (R) : CAM Rwg e o@ g CO, CRE mﬁ:éﬁ)
(1) (A)So8as0 (R)Bodor 853, (R) 038 (A) £ 5863085 3358k
(2) (A)So8osn (R)Bodr 50853, 53 (R) w6 (A) & $0G0S D56 526
(3) (A) %6056 59 (R) 8%
(4) (A) &2y 52 (R) 5663058
22. Initiation of lateral roots and vascular cambium during the secondary growth takes place in
(1) Cortex (2) Endodermis
(3) Epidermis (4) Pericycle
ByboH 5PS* Sy 38 B0 S8 2B Jurag SrS AoyEbo & aro Hod
adihdiod.
(1) Seopeodn (2) wodfHsysw
(3) wirgEsso (4) SHeSES0
Rough Work
AM 2017 . 1m-A fea
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23. Identify the names of the structures in the right order ;

A B C D
(|:DDH {|;‘Hg OH (I:DUH CH; - (CH,);4~COOH
H—(|:~ NH; {FH—{}H H—(l'J—NH;_
CH,-0OH CH,-OH CH;
& D
Alanin Fatty acid
Fatty acid Alanine
(3) Alanine Fatty acid Serine Glycerol
(4) Fattyacid Alanine Glycerol Serine
& Bob doprre DES ¥d FESos® HBoSod ¢
A B G D
?DUH (|:H2 -OH f]JUDH CH;—(CH,)4 - COOH
H- C-NH; (IIH—DH l-l—{i:—NH;,:
CH, - OH CH,-OH CH;
26 H0GS =4 -
A B L D
(1) 65 pdoS wods 8 siren
(2) adod 585 P8 sired ©odS
(3) »ods T8 siren H6S dd0S
(4) 8 viren ©odI ) 063
24, The size of the parvoviruses is :
28 636D HBSrN0
(1) 300 nm (2) 20nm (3) 400nm (4) 0.002 nm

25. The number of synergids and antipodals present in a typical angiosperm embryosac at maturity

respectively are

(1) twoandthree (2) oneand three

(3) threeand two

(4) oneandtwo

Forémom eB)S Dot Bold HEHBE TOS LodEFos' HOGLS IEDESSt I

Sutcddy Smren 8o DETFE Smren Golrrow
(1) Sods Sobod0 Sard
(3) SHoordls S08asn Bodd

(2) &8 Sobok Sardd
(4) 2E8 Sobosn Bods

Rough Work
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26. In the Measles virus, the envelope contains protein projections known as spikes. These

proteins are
(1) Acylated (2) Methylated
(3) Glycosylated (4) Carboxylated

2ORG) FERS' TS FBSS IBSHS ErdINS Aoy Gotron. & (88
Q0d3?

(1) SnE88s (2) 03885

(3) aspoBa (4) son§B8&

Assertion (A) : Ina bioreactor; temperature, pH, substrate, salts, vitamins and OXygen are
maintained

Reason(R):  They are added to maintain proper growth of the organism and to achieve
desired product optimally

(1) Both (A)and (R) are true, (R) is the correct explanation of (A)

(2) Both (A)and (R) are true, (R) is not the correct explanation of (A)

(3) (A)istrue but (R) is false

(4) (A)is false but (R) is true

WHdo (A): adrbairgsst &S, vfy STgen, v, LS Bk
shzow Jchognd® Gdodudaon

sSwo (R): Héi& 2D G KOS 58 FE% Hobasn Trogdoh G Tos ehE
AwFod* FolSmIE wobodwdaromn

(1) (A) %805 (R)Bodr 30053, (R) 638 (A) % 565 236w

(2) (A)So0acsn (R)Bodr $8c05S, 572 (R) eF6 (A) % RH0ghd DS B

(3) (A) 8@ 52 (R) Sy

(4) (A) 833 52 (R) $BGEB

28,

[n Z-scheme of electron transport, water splitting complex supplies electrons to

(1) Photo system - [ (2) Plastoquinone

(3) Pheophytin (4) Photo system - II

Z-565000 Jogs serd’, M8 IHES Soffo B Joges 85T dothudd
(1) so& 555@ -1 - (2) TPES'S

(3) »IrpeS (4) so8 558 -1

Rough Work

—
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29. Match the following lists

A)
B)
O

D)

List - I
Lyases

Ligases

Hydrolases

)

1)

[1T)

List-II

Enzymes catalysing hydrolysis of ester, ether, peptide,
glycosidic, C - C, C-halide or P - N bonds

Enzymes catalysing a transfer of a group, G between a pair of
substrate Sand §'

They catalyse removal of groups from substrates by mechanisms

* other than hydrolysis leaving double bonds

Transferases [V)

They catalyse the linking together of 2 compounds

Bod Do 283G 0d !
5098 - 1 5688 - 11
A) odbfen D 96, &8, "::35, EE‘”‘E&E. C-C,C-w86 8r P-Naogod
2o J3qe DN JoBew
B) SA&es ) G330oaird) S, §' o Bod 06y Sorge gy dar S
JoB0e0
C) @ESfens 1) I8 3o soa ads cro@se o €6y JTge
Sood) dInmrairess Fohod Hpome J6EH JoBwd
D) (r&edfes V) 2 Sodrasrois 500 $6St FSD JoBDow
The correct match is: .
28 W08 a8 !
A B C D .
(1) 1 i Il I\
2) N I m O
@ m v [J o«
4 m 0 N 1
Rough Work
Q]
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30. Match the following lists.

List- 1
A)  Ascocarp
B) Haplontic
C) Zoospore

D) Ascospore

Bod ;’)téﬁuéﬁa 2856y0d :

w

el

8- 1

A) Hﬂ'zls"é'ﬁ
B) ﬁggﬁg

C) #A%s Dvgdasw

D) eamans

The correct match 1s:

=AY Eﬁgfﬁ pagh

(1)
(2)
(3)

o ()

A

i
v
I

(- ==z

&
Vv
m
v
©

S 3

B

S 3 B

2 H -~ =2 O

List-II
A spore produced by an ascus

An asexual spore produced by certain algae and some
fungi, capable of moving about by means of flagella

A life cycle in which the haploid phase predominates and
the diploid stage is limited to the zygote

A non-motile, thin-walled spore

It is the fruiting body of ascomycetous fungi

a’:é&é - 11
@9),0 Sod &8)8 wond hgbm;’m

FQ) 3doren Hobosn oo ad T, AT
S ETercing, wBohs IR

& 224 Hifos* hﬁ'ﬁi‘iﬁ Ed DS, Ggoionds &F
Docing Herds Sr@d H8ED> Golwod

w8 Sod gird Heowd Mdwn $0A &) dgdesn
20 s DHER WolTre duTalSw

Rough Work

AM 2017
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31. Electron microscopic study of cilium and flagellum revealed that they are covered with
plasma membrane and the core structure is called “axoneme”, possesses a number of
microtubules running parallel to the long axis. How many number of microtubule arrays
are arranged peripherally and centrally
Srdo B 3080k JoES ArHIGIS SrHSYH, ©D Ty 1 Kowa wolrow.
D8 Zodarrd) ‘wEHAD' wotrd. HAS* w3 Hrf) TP Jw vFIs JHSresdSnm
Solron. HAS' ) HEHoH $0ckn Body ArEy T Golrow
(1) 9+2 (2) 8+4
(3) 9+3 (4) 8+2

32. Assertion(A): Inmostbiological systems, the initial growth is slow (lag phase)
Reason(R):  With limited nutrient supply, the growth slows down, leading to a stationary

phase.

(1) Both (A)and (R)are true, (R) is the correct explanation of (A)

(2) Both(A)and (R)are true, but (R) is not the correct explanation of (A)

(3) (A)istrue but (R) is false

(4) (A) is false but (R) is true .

APTo (A): oI 25 Sgiped’ e SEST dhbde IS wlbibdod. (D008 &%)

s800 (R): oo p8Hor $A Dhde Sndon, e Jim $4P608

(1) (A)S:8050 (R)Bodr 386333, (R) w3d (A) & H8GS DS

(2) (A) 58050 (R)Dodr 206053, 59 (R) w38 (A) & H0GS IS8 5

(3) (A)%050%8 5 (R) 833

(4) (A) 83y 572 (R) 505038
Rough Work

=2}
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33. Glucose x

el gl L — —

Triose phosphate (3 - phosphoglyceric acid)

2
2 - phosphoglyceric acid

2 - phosphoenol pyruvate

I @
Pyruvic acid

The enzymes catalysing reactions 1,2 and 3 mspectwely in the above steps are
(1) Phosphoglyceromutase, Ennlase \

(2) Enolase, Phosphofructokinase, %ru/%ie,kinm

(3) Phosphoglycerokinase, Enclase}%ckimsc

(4) G-3-P dehydrogenase, Enolase, Phosphoglyceromutase
., Kp8'S

=Rl —fef=——

BErE Fyo (3 - ausas;]maﬁ e500)
I ©
2 - FINVOE siS0
! @
2 - PANETS DEFES
| ! @
260D widso
28 285§ 1, 2, 3 Sdgod &@Jﬁ?mﬁ“ HIEDH JoBDood) JOGS Eos® Bwodod
(1) PSS BrgBE, GSBE, perds 336
2) 6388, PIYPE EIE, 2ErIS 3IE
(3) IEPE 33, &5TS, PErIE 8IS
(4) G-3-P & 8238, &I'BE, RIS SorghE,

<L)
gcollegeduniag
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34.  Which one of the following does not belong to Solanaceae

(3) Derris indica

(1) Nicotiana tabacum (2) Withania somnifera

(4) Lycopersicon esculentum
& Bob TBS* FoIDE TosIH 87
(1) dsactrs i

(3) BPED @obs

(2) derdcir Floywo
(4) BTG by Bobon

35. Find out the right combinatien of primers in a PCR to amplify the DNA product
& 808 >8S° PCR ogor DNA 8¢bedssen 2ddam08 4Hda3rrdd $3:5 (2506 2d
fodod
(1) : T, >
. . 3 < S } Set [
' ' AL TS
() ST ||||||I|"
> 2 il }"*
PRTTITIIT g
> T
(3) 3 1?3 } Set 11T
R ITITI TS
Sy
(4) ytilllls T } Set [V
3 B (11111
Rough Work
AM 2017 18- A S2
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36. Match the following lists
List - I List-1I
A) Plasmolysis [) Movementof water occurs exclusively through the
intercellular spaces and the walls of the cells
B) Translocation I[) Thebulk movement of substances through vascular
tissues of plants )
C) Symplastic . 1) Water travels through the cells-their cytoplasm;
: - intercellular movement is through plasmodesmeta
D) Apoplastic IV) Water moves out of the cell and the cell membrane
of a plant cell shrinks away from its cell wall
V) Symbiotic association of a fungus with a root system.
Fungus provides minerals and water to the roots
Bod ?aégéua‘u 2d38)0d : '
D85 - 1 38¢ - 11
A) EmESg Dof'So ) 08 SodotSwo Sarodorisyw, n SSwe T
S8R abhHdos
B) &arodde ) 3wuge Hidse oo gl TTL JP© DT 0
C) 23Ty d5do M) A8 Sossn Swros' Sadsgo TG0 RoSraned.
Sere Sogy BBy woTre TETT adib&0d
D) &Iy T IV) Emre Sood dh 208 3 FonSdyds Seadgio
€550 Sood DBEh
V) 36 5g5% Sabosn 3doi@han Sodig Srddvo. Bl
300|850 A HBosw plroi odoed
The correct match is :
b 08 28 :
: C D ‘
(1) @7 5) g
2 NV il il
(3) I 1 I\
4 N I 1T [
37. The floral formula of Pisum sativum (ped plant)
PO HBID (27 Doky) Dwog) V) SWEGRSN B2
LN
{1) BrEbrl @ g‘K(j} C(S} ﬂj Qa] {2) Br Brl % {K{S} C 1+2+(2) A{g}ﬂ G 1
' ~
(3} Br Ebrl & Qj‘P{3+3}A{3+3}_{__}{3} (4] Br Ebrl % ?’K(S} C[S} AS Q(?_}
Rough Work
AM 2017 19-A @
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38. Match the following lists
List-1I List - I
A) Diptera ) Homo sapiens
B) Poales ) Mangifera indica
C) Sapindales | ) Musca domestica
D) Primata | V) Triticum vulgare
Bod DB 24850
288 - 1 He58 - 1I
A) agyo ' D ol Dholw)
B) 2038% M) Srczo wods
C) &%olds ) S Fys
D) (@& IV) 8885 586
The correct match is :
26 508 2d
A B & D
(1) I I \Y Il
(2) O m I N
(3) I I\Y I I
(4) IV I 11 I
39. This Indian scientist and his group contributed immensely to C4 photosynthesis research
(1) J.C.Bose K (2) V.S.RamaDas
(3) PK.K.Nair (4) C.GK.Ramanujan
TEERTIE Dobd & r@ﬁgﬁ 300t wohd Sovdgben C4 Edmady SodrhiiSal
DOFENE wdgod SETE
(1) B2 59 (2) 2.00%. oHo
(3) 535 o%s (4) 23 oclrdons
40. Porphyraand Dictyota contain the following pigments respectively
(1) Phycoerythrin and fucoxanthin (2) Xanthophyll and y-phycoerythrin
(3) Chiorophyll d and chlorophyll b (4) Fucoxanthin and phycoerythrin
PT0 SDdodn AEArirS” & Fob SPEargen ©d SHJED0S* Gotrow
(1) 2EFIB@S Hodcsw Frgfarodn (2) =ofDd Jobdotn y-REIBGS
(3) E696 d Sboin E6VS b (4) Trgferods Sdcain PEIOGS
Rough Work
L)
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Z0O0OLOGY
41. Name the targetted gene in first clinical gene therapy B
(1) Adenosine deaminase (2) Cytosine deaminase
(3) Thiamine deaminase - _ (4) Guanine deaminase
3068 EAES adg DEGS" TAS adogd
(1) JE5DS BJNIE (2) 2°HS BIWIE
(3) BwS SodoI& (4) MRS BIIE
42. Which of the following cells of cockroach secrete saliva
(1) Glandular cells of mesenteron (2) Acinar cells
(3) Stomodaeum cells (4) Proctodaeum cells
SQoES” wrerzorl) EIoh Bwren
(1) Sorgod Kod Seren (2) S Sereo
(3) odgswy Seren (4) SraSuB§ Beren
43, Enzyme present in lacrimal glands of eye that has immunological role
(1) Ligase (2) Lysozyme (3) Lipase (4) Lacriminase
EoBS'Y erEHS Kod SISt cSnod EHISHE ¥ Ko JoBS®
(1) 48 2) SaS (3) ohE (4) er@Ends
44, Origin of new species due to the geographical separation is called
(1) Phyletic speciation (2) Geographical speciation
(3) Sympatric speciation (4) Allopatric speciation
FHEE DIES S0 Fdard kb
(1) $BEE H0erHodo (2) FHOE HoerSosn
(3) DorESE HBeSSD (4) eS*3EE H0eS050
45. Match the following
Set - I (Endocrine glands) Set - II (Hormones secreted)
A) Pituitory gland [) Melatonin hormone
B) Pineal gland ' < 1) Thyroxine hormone
C) Thyroid gland [) Cortico steroid hormone
D)  Adrenal gland ¢PYIV) Growth hormone
& Bod TR adDHISHBR
288 - [ (wod@nss Hogoewn) S8 - I (5*6°)8 @So)

A)  DoSard (Hod ) DosdS 565

B) %3cHS Hod ) 3Jods T

C) Jorons \Hod ) s§& Qorond F*0° s
D) @En;ﬁaéb. iog IV) snde ‘.’:“5‘&5:
[dentify the correct match.

28 50G0F 24.

A B C D
() il I NV I
(2) I Il m v
(3) \Y I il m
(4) \Y i} i 1

AM 2017 21-A .
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46.

A
Mark the decreasing order of complexity in the given living systems
A) Cell B) Organ.
C) Tissue D) Biosphere
& 1808 T8I T8 D08l srrdsom eife Ehing' eldydn
A) Sedw B) woddw
C) Emzrwoo D) #3A%50
(1) A>B>D =C (2) D>B>C>A
3) AC>B>D 4 B>=C>A>D

47.

Match the following

Set- 1 Set - II
A) Flame cells I)  Arthropods
B) Coiled tubules Lr [T) Platyhelminths
C) Malpighian tubules | M) Crustcean
D)  Green glands IV) Annelids
& 8ob TR 2dDTdw ,
53¢ - 1 | - b€ - 11
A)  ergor Sren ) sg&Fa
B) dfen 88A5 9B IT) qe&va&aaﬁ
0) srdy2chS ook M) EHaoHS
D) Sodfogons V) edda

[dentify the correct match between Set 1 and Set 11
535-1 Ho60%0 HEE-11 HBGS Do 2EBesaSwD

A A D
() I @Cj m
I I v

(2) 1
(3) m \Y I "
(4) v I ] I
Rough Work
AM 2017 ' 22-A S2
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48. Match the following:

A)

B)
0
D)

Set-1

Reproductively isolated from the
individuals of other species
Sharing the same ecological niche
Showing similarity in the karyotype
Having similar structural and
functional characteristics

& B0l T adHddaba

A)
B)
C)
D)

Identify the correct match between set I and set II

288 - |

268 wrdo Dol [HeogdHd
DHES &G

28 2500 DTH HoHEHb
2865208 SORDS Eoso
280608 doyTdyE o8k
BSra)E oo §9anodats

B8 =

Set- I
A genetic unit

A breeding unit
An evolutionary unit
An ecological unit

wgs - 11
adg Pdredn -

D238 Diredn
Db | Dirodw
Eardde Hireadwn

HEE-1 Sobodon HGE-IT S0cS DESom zddabadsd oA HBowSN.

(1)
(2)
(3)
(4)

A B C D
I |
v

-~ I

\% I
o~ I
1 I m v
[ il I v

49. Which of the following statements are true for ecological pyramid except
(1) Energy available at a lower trophic level is always more than that at a higher level
(2) The pyramid of numbers in a parasitic food chain is inverted
(3) Pyramid of biomass in sea is upright normally
(4) Inatree ecosystem, squirrels are primary consumers and ticks are secondary consumers
& 1808 TS* €500 DEDEOS Jonofod B HBDEE s

Eod ﬁ‘ﬁé%mé‘ odos 8% ﬂﬁéigwﬁ‘ oo 8 LoB &S

QrHEHe uSE Fadd® dopg HELE duBoliedm cuodd

FHES0S'R BIgord DEDE FErdedon LM oinodis

S eidning’ ddhides | FEE IArAT e Sodon AMSrdy Bk

(1)
(2)
(3)
(4)

JARFHT e

Rough Work

AM 2017

23-A

=1

gcollegeduniag



(A

@

50. Match the following:

Set- 1 Set - II
A)  Stichonematic ~ ) Flagellum has two or more rows of
lateral appendages
B) Pantonematic I)  Flagellum has no lateral appendages and
) terminal filament ;
C) Acronematic “ III) Flagellum bears one row of lateral appendages
D) Anematic) IV) Flagellum does not bear lateral appendages

and terminal part of the acroneme is naked
& 8od T wSHISS0

D88 - 1 588 - 11

A) REISrEE ) wicahdodyD Bodk B wodsod RESR
SBdos g e odwodroaw.

B) &o&*d5re38 [) E2ard8 oo e Bdas»
wodgSodbjen oiuodsy).

C) JFASr8E Il) £7erdE wiod dodhH D of Sdrdy
VO e dinodroan.

D) 257435 IV) S2erd8 rdy Qoo csnody) Sobosan

w8t S0 wodgarisn SifySoorr a0 o
Identify the correct match between Set I and Set IT

SGE-1 So8csn HEE-1I H0GS IPHnm adHaindn.

A B C D

(1) m I IV i

2 N I m I

(3) m II \Y I

(4) 1] I Im v
51. Inwhich of the following cells first meiotic division is observed

(1) Spermatogonia (2) Primary spermatocytes

(3) Secondary spermatocytes (4) Spermatids

& 5ob Eored’ Id8Arbm EchEfn deas 2k

(1) DESr&Earen (2) (rENE DHESrS Eeren

(3) Bg8ch HESrSEaren (4) ®fedsen
Rough Work

I % I
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32

Genetic Drift describes

(1) The change in frequency of a gend mearly by chance in small population

(2) The change in frequency of a geng that occurs mearly by sclection

(3) The change in frequency of a genefthat occurs mearly by selection and chance
(4) The change in frequency of a genelthat does not influence in any extent

asog aaq:a.:s &M

(1) 98 asps® arddysormr, aly FSYSgos® €07 Srddy

(2) S8mo So mdog TI:YSgos” §OA Sy

(3) oﬁrﬁai}'}gcﬁ' 0cin S6wo Su adeg FB:PSgos” §I7 Sy

(4) =g 5:YSgoes* BOA Srddy ADFomr HPrssn ScHVESFGL

33.

Statement (S): In Periplanata americana opening and closing of stigmata is influenced
by CO, tension in haemolymph and oxygen tension in the tracheae.
Reason(R):  The air enters into tracheoles and oxygen from the air is taken into the
cells and CO, is released into haemolymph.
(1) Both (S)and (R) are correct and (R) is the correct explanation to (S)
(2) Both(S) and (R) are correct but (R) is not the correct explanation to (S)
(3) (S) is correct but (R) is not correct
(4) (R) is correct but (S) is not correct
Tswg (5): DOTILr 0ROSTS THHCoTr ey SordoEil 50805 BESHE S0
TIr0oRSR CO; HESS50 $0050 FFRTESNSD 0, B850
e S daso.
6@o (R): TolnaPEc™ md @3eodmd mds' O, o D6, Srosd
CO, % SardoD Ko,
(1) (8) S08asn (R) Bodo H8&03D Hobasw (R) vwss (S) % DOGDS DG
(2) (S) HoBatin (R) Bodd 3805 577 (R) w5038 (S) % H0508 IS6e 57
(3) (S) 266088 572 (R) $653058 570
(4) (R) 366058 70 (S) H0G058 5°¢h

54.

Which of the following scientists discovered the drug for filariasis
(1) GN. Ramachandran (2) Y.Nayudamma
(3) S.N.Bose (4) Y. SubbaRao
POOCNS TgR8 TAGW) EFE) T3
(1) 2.00s. ocdodods (2)
(3) obR.oha. F% (4)

. oS

[* 4

2
2. WY

Rough Work

r—
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55. Match the following;
K. Set - | Set - 11

[dentify the correct match between Set I and Set IT

“g8-T S0ai0 SQE-I1 50508 D6 wEFas0n,
A B c D 3
(1) I . | vV [
(2) I I I v
(3) I V- 1
(4) il I I v _ _
56. Thecell organelle involved in the formation of a flagellum/cilium

(1) Mitochondria (2) Lysosome (3) Basal granule (4) Golgi complex
ETLED / IBE & $08 EerronSan 208 Aty

A)  African sleeping sickness I)  Plasmodium vivax :’
B)  Oriental sores I1)  Leishmania tropica by
C)  Elephantiasis IT)  Trypanosoma gambience %
D) Malaria { IV) Wouchareria bancrofi ;
& 808 IV wSBEHRs I
D8 - 1 585 - 11 "

A)  ©oRE vadg T56 I) Fhdoho 76 |
B) &ochotss &G ) darpcsr gros [
C) ODoBesrdS ) Gassr moncoy I
D) Sidscss V) esdoosr IO R i
|

5.

!

() &'Todesr (2) sarss (3) werogse (4) g Bosgsm
57. One of the known largest coding gene in humans )

(1)  Dystrophin (2) Haemoglobin (3) Insulin (4) Myoglobin

Srddest ey FEIS SodBod 2805 .

(1) 8gos @) a-mes  (3) asyos 4) Soargs

58. Which of the following vertebrates are Jjawless

(1) Chondrichthyes (2) Osteichthyes (3) Cyclostomata (4) Amphibia
Q8 SS5&en B JEIEE S0

(1) soB8as (2) ©2885 () PEFDL (1) wodocse
9. Klinefelter’s syndrome has the following phenotype and karyotype o
(1) Maleand47, XXy (2) Female and 47, XXX
(3) Maleand 47, XYY : (4) Female and 46, X
E90g8 o' & 808 &Fsdrdsn Sbcsu §00rES Edosodedy
(1) Jod S8atn 47, XXY (2) @ Sobasn 47, XXX
(3) &L D800 47, XYY (4) & SoBoxn 46, X

AM 2017 26-A ) @
gcollegeduniag



(A

60. When a white eye Drosophila male (X" Y) is crossed to a red eye female {XR X®), in the

F> generation all the females are red eyed and 50% males are white eyed. In a criss cross
test, when a white eyed female (X* X') is crossed to ared eye male (X" Y), the F generation
off spring had white-eyed males while the female offspring had red eyes. Instead of crossing
of a white eyed female (X' X") to a red eyed male (X*Y), white eye female (X* X) to white
eve male (X"Y) iscrossed, the F, generation will have the following phenotypes and genotype.
(1) All females have white eye (X" X', X" X’) and all males have red eye (X" Y, X*Y)
(2) All females have white eye (X" X", X" X*) and 50% males have red eye (X} Y, X'Y)
(3) 50% females have white eye (X" X", X® X") and all males have white eye (X° Y, X Y)
(4) All females have white eye (X"Y", X" X") and all males have white eye (XY, X"Y)
Bufine SfEdRe (X' Y)s JBER O wdF o xR x® & RodG,0 agdmr, F, s6s0ns*
) sddPen e (X' X) Soain 50% SondHen Bosinen (X'Y) 508 oo, B8
disdgorr, Besie ed2dd (X X') Jgsiye Sorsd (XX Y)8* toit,0 260, F| 860" Sordged
Businen DO edEPod) JPESNe SPobuTon, Besie ws2dd (X' X)) d J¥Esne
Sofsn (X} Y) & Sodtho atrdbs wdeor, Bofine wEd20 (X' X" By ondd
(X"Y)s* Rodd,o 2ddm F| 88es 2o Gyfgtorhe HoBain adglrdo &ddomr sodl.
(1) o) vsdhes Sgssnes (X' X', X' X) So80%n o) SHxsHes IGEe
(XY, X"Y) 69ctnodos '
(2) ©d) sddPheo Bgines (X' X', X' X) Soasn 50% SoddHes sy
(XRY, XTY) 6005082
(3) 50% wddHes Bosinen (X' X, XR XY o805 8) SoddPpes Sosines
XY, X"Y) . .
(4) e & 2P By (X' Y, X' X) soocn ) SifdHes Beo§ioes
(XY, X"Y) 58 50

61. Human heart contains 4 chambers, whereas cockroach has a heart with
(1) 13 chambers (2) 8chambers
(3) 12 chambers (4) 2 chambers
IV Modarey Kok §Qcsnododn. ©d S'go¥ Hod fthe Hopg
(1) 13 Keoen (2) 8 Koo
(3) 12 A0 (4) 2 K&en
Rough Work

—
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62. Vaccine contains

(1)  Only formulation chemicals

(2) A medicine that suppresses immune system

(3) A disease causing inactivated microorganism

(4) A chemical that suppresses host DNA

s EQoinodasd

(1) &Bas Sarais dTTen S|

(2) gl ASEESH wetdaln TAdo

(3) odgisn Johds Tghd Serdain Srgdd
(4) ©&Fow DNAJ wadicsny §drohs éﬁ'gm

63.

Identify the organisms that cause ringworm

1)  Microsporum 11)) Haemophillus i11) Streptococcus “3'5
iv)  Trychophyton v)  Ascaris £
aHd Tgha EenfBEosn s*dsresy Hbotod

i) JEFs i) T3rped i) RYEES

v) | @5pirs V) 808

The correct combination is:
26 HBGDS ad

(1) ii i (2) v (3) i, v (4) 1iv
64 Match the following
Set-1 Set-1I
A) Caloreceptors {"t I) Cold receptors
B) Proprioceptors 1) Body surface receptors
C) Frgidoreceptors III) Heat receptors
D) Exteroceptors IV) Receptors found in muscles
& \Bod TAD adBHEBwn
HEE -1 288 - 11
A) 553G (mrsw) ) Sodsswe
B) @@arnag) I erdryode
C) wa&Dys) M &3 s
D) erdgmrdrsten ! IV) Sodoes® dduod (Torstes
Identify the correct match between Set I and Set II
HE3E-1 Sobador HIE-II HOGS DES0m adBHcsnbn
A B C D o
(1) I 1 I v
(2) [ I\Y I I
(3) I\ I I |
(4) [l \Y i} I
AM 2017 28-A Sz

gcollegeduniag

I

635.



(&

65. Match the following:

Set- [ - Set- 11
A) Typhoid fever ; I) Streptococcus
B) Ring worm infection II) Rhino virus
C)} Common cold . [ll) Salmonella
D) Pneumonia IV)  Trychophyton
& o8 TN BEHEHS0

586 - 1 58¢ - 11
A) Bronsd agdbo ) (R&sss
B) e&d ) 3s 3%
C) &pdem ae00 M) s 3o
D) Sogardodr V) 88%urs

Identify the correct match between Set I and Set II
DBE-1 Sobotn HGE-II H8GBoS IS 2ddaosn

A B C D

(1) I I i \Y

(2) I v I I

(3) Il I I v

l (4) Y Il m I

66. Identify the correct statements.
A)  Emnst Haeckel is considered as father of embryology
B)  Von Baer is considered as father of modern embryology
C) Biogenetic law which states “Ontogeny repeats phylogeny” proposed by father of

modemn embryology
Select correct answer
(1) StatementA, B and C correct (2) Statement B and C are correct
(3) Statement A and B are correct (4) StatementA and C are correct

BOGS DIrErSS0E KHBowSE0

A) R WIEH DoE'HA TY beDIVhM HQRG.

B) o380508% ©¢dE bod'$)8 T3 beSdudomr K8k,

C) »2@Bra8l88 drodsn B5dsn ‘o8 2D 428 S0 © £ 3¢ 5D SHER
VIVoTBE S0 DBidyod. & LIoE™) BEIIE Do& G Ty werldolh HaTrdoTrd.

N08 DArerdsnts J&JE‘U&

(1) agwg A, B Sobosn CH03058 (2) argwg Baodbasn Cen $85052

(3) &gwg ASoboin B oo H088052 (4) ogwg ASdasn Cen H8&05D

Rough Work

| )
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67. Match the following
Set-1 Set -1

A)  Syphilis )  Human Immunodeficiency virus

B) Cervical cancer5 II) Treponema pallidum '

C) Gonorrhea III) Human papilloma virus

D) AIDS \ [V) Neisseria

& 808 TR 2dEN5%sw

288 - 1 5438 - 11 _

A) 2205 D) Hogied asngSBuReHY 36D

B) #onios Snpmgs 5556 M @asr 3985 |

C) nJdcsor ) Feghs >SS 6D

D) AIDS V) 3hoose

Identify the correct match between Set [ and Set II

5581 Sobcson HeBE-I1 50805 dFdnm adBainsn

A B C D '

(1) I I I \Y%

(2) | I I v -

(3) I 1l A% I 71

(4) \Y I i I
68. Name the cancer which arises due to chromosomal translocation

(1) Breast cancer (2) Chronic myelogenous leukemia (CML)

(3) Cervical cancer (4) Colon cancer

E'RrE'Sn FTrods Srdyy So Seold 5550

(1) &30 57556 (2) 5 DSEST eogdoosr

(3) ﬁa‘;ﬁcﬁ: Soopagd g6 (4) Feos 5550 E
69. Nervous system is derived from the following germinal layer

(1) Mesoderm (2) Endoderm

(3) Ectoderm . (4) Meso-endoderm

ThBgEG & Bob wS5HT0 K08 DEYES: T

(1) Sobgdesss (2) woddissn

() wirgsssm (4)  Soisg-wosdgssn
Rough Work

)
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70. Match the following:

Set- 1 Set-11
A)  Insulin ‘1) Stomach
B) Pepsinogen II)  Salivary gland
C) Bilirubin Ill) Liver
D) Ptyalin IV) Intestine
V) Pancreas
& 1§08 TAQ adBEhin '
HEE - 1 288 - 11
A) adnds )  Z2gdchse
B) yStas ) ooz Ko
C) Beodrms ) sScho
D) &cHos IV) %%
| SESEAN

Identify the correct match between Set 1 and Set IT
288-1 Sobotn HGE-11 H8G0HS JFSum 2dBousn.

A B C D
(1) \% [ m I
(2) I v [ \'%
(3) v 1T I I
(4) V I [ 1\Y
71. There will be 6,000 to 10,000 white blood cells (WBC) per cubic millilitre of blood. A
slight increase in WBC count is observed during infection. This phenomenon is known as
(1) Leukemia (2) Leucocytopenia
(3) Leucocytosis (4) Leucopoiesis
28 PIY WOOLE gSnes* 6,000 S00d 10,000 Fodgsaras (WBC) cluootrow. 28
G0 CESne" dudgsere dops & JERS oSGl HBoSwaSE. & 8§ FRTV )
JSoodrd.
(1) engddocss (2) orgF e b
(3) orgs e s (4) ergfrondy
72. The study of fresh water ecosystem is called
(1) Limnology (2) Ethology (3) Synecology (4) Autecology
200008 L3580 55;’:@;&: w@goiodtn Hodw 3 80 '
(1) DSmerd (2) apreod (3) PIswd (4) «fsod
73.  The lymphocytes capable of producing antibodies and can capture circulating antigens are
known as
(1) T-lymphocytes (2) B-lymphocytes
(3) Large granular lymphocytes (4) T-helper cells
®8 BFfod JoFholl BN PB=SE rErsreor H0F0%w Qo niSen
(1) T-DodFpiSen (2) B-8odpies
(3) 3zo Sfsoind o pdlen (4) T-255058 Eeoren
P—
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74.

Immature bone cells are called
- (1) Osteoclasts
©3055g wRSerof IG5 Dendd

(1) shdrspen (2) sRIrplen  (3) whArlore  (4) wRArerRen

(2) Osteocytes (3) Osteocells (4) Dstegblasts

75.  Ctenidia are the respiratory organs of the following
(1) Arthropoda (2) Annelida (3) Mollusca (4) Porifera
Sosgromen & 1§08 eS¢ 82 T wdchaen
(1) s&&a (2) edom (3) Soodm (4) @00
76. Heparinisa '
(1) Plasma proteins synthesizer (2) Anticoagulant
(3) Fibronectin (4) Thermoregulatory factor
TTbe
(1) & @>d58 &&)8 Totod (2) @83 08850
(3) &3S (4) S/IHOES ¥
77.  Identify correct match between SET - [ and SET - II
Set-1 Set- II
A) ECG )  Noninvasive imaging
B) EEG ) Radiation
C) MRI Ill) Heart |
D) X-ray IV) Blood serum
. V) Brain :
SEE-T So80%0 SYE-II 0 aEsSSD0, _
538 - 1 588 - 11 ;
A) ECG ) B @BersSsn §0hosd QS 2g8 |
B) EEG I 3&HaS
C) MRI ) oad
D) X-ay V) &&a
V) 3osd
Identify the correct match between SetI and Set I
508 TQe&® SO zd HE0D S8 MH8owadn
A B C D
(1) I\ I AP |
2) I V. MA& 1
(3) \% I >~
(4) il v I i
AM 2017 32-A (Szi

gcollegeduniag



A

78. Ina grazing food chain the trophic levels are as follows.

(1) Hawks — Spiders —- Small birds — Rose bush — Aphids
(2) Aphids — Rose bush — Small birds — Spiders — Hawks
(3) Spiders — Aphids — Small birds — Rose bush — Hawks
(4) Rosebush — Aphids — Spiders — Small birds — Hawks

D eI Fevos® Fagoned & Bod IFI0T 050060
(1) #g — dddben — DHdPew — HIDE — IpEen
(2) Wb - HrdFE - DHPPen — FBHSHK o T~
(3) Foden — Wb - WD — HOAFE — 1S
(4) Kod>S - Dpbe — FdHhen — DHDP — AG

79. Loss of calcium due to lack of reabsorption causes
(1) Arthritis (2) Osteoporosis
(3) Myasthenia gravis (4) Muscular dystrophy
PTG S'HSsnSy 5°9uho NP So Dk G
(1) egss (2) " LRBrHEHD
(3) SooBydosr @IS ' (4) Sodyes &F
80. The total volume of air accommodated in the lungs at the end of forced inspiration is known
as Total Lung Capacity (TLC) which is equal to
Where, TV =Tidal volume .
IRV = Inspiratory reserve volume )
ERYV = Expiratory reserve volume
RV = Residual volume
puScdy STEHSN FHTE HHOBROS VRO MO Jodsn WIDBSTSNH
TEIAYD FHoFedn wobrd ab B8 HSrds0
V=846 sreogd
IRV = ST DS PIHOIrsw
ERV = QTG0 Dend dDH0SreSD
RV = 533 2085505 r0050
(1) TLC=ERV+IRV+TV (2) TLC=TV+RV+ERV
(3) TLC=ERV+RV (4) TLC=ERV+IRV+TV+RV
Rough Work
Q21
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81.

PHYSICS
Consider the following statements in the context of formulation of any law of Physics
L explain the existing physical facts
[I.  noneed of experimental verification
. predict future results
Then, any formulated law of Physics, should be true with respect to;
(1) IandIl (2) HandIN (3) landIN (4) LllandIll

FEET [0S IBa VoS drdrodod RodESNeS* & (§od TEgedn H8Ab8oKos.
L @ioeses* DS 85 di:u‘c‘e;:-iﬁa Jadodtadn

I @rmrdgor 305rd wssssn SES5EH50

M. $24gd HVere SSrocisus

olydo, Srdrododnds 5‘656"':‘ 2 o DoHIS & 8ol 8 Sy cﬁoﬁ'g-ﬁn sta8d
(1) ISosasw II (2) HStcolll  (3) ISebotw III (4) I 1138050 11

82.

Consider a long solid copper cylinder carrying current I. Then which of the following figures

correctly depict the direction of M B and H 5
TS’ BawAS o8 FEIS o5 SpHZNS' T ogey BILB069 50KB0S0A. v

& 8B BLres® 96 M, B S0ctn H &8 som B D08

il
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83. Consider two convex lenses of focal lengths ‘f” and ‘2f” mounted at the ends of a black
colored tube. The diameter of the lenses and the tube are the same. The lenses are separated
by a distance equal to the sum of their focal length. If a parallel beam of light falls on the
long focal length lens, filling its aperture, the output beam of light is best described as
(1) Collimated and smaller diameter
(2) Collimated and same diameter
(3) Diverging and larger diameter
(4) Converging and smaller diameter
7 Sabgsay 20 a‘a;*goéci Sroren e Dody Bsozrstd Sbsen ;‘SE;’J Sof ﬁ‘éaga‘m D5de
wHdadid. © Lo Jgddn b Qb FrgHdn FHrddw. ¥ Todb LSO
Sogy drdin o8 Tergodue Soododgo PSS, wE dirodd 508 Pondn I8 S
.a'a'ﬂgoéd drddn do LS 2 o) fod Jwgo SdNBoondds, ag;.aa 508
Poudnd & fob IFSnm DO DHfosSuEyo.

(1) 3S5rodbEbosnds Sbcsn #8938 TgHsn
(2) HSrodbEbotadsd Huddin wod Irghdwn
(3) JBodEbotndd Ldodn IEyS TrgHSw
(4) wHBobEboTES Sobakn S89,5 JgdSw

84. A uniform disc of mass M and radius R has a string wound around its periphery and tied
to a ceiling as shown in the figure. The acceleration of the center of mass after it is
released : '

M (&550°8 500050 R argdrdin o wE 2868 0¢) erdrg soh bog w8 84 i
53005 D E535% HLBNG® SrdS DGIVT DAEWASE. 8 DY SEBLSYE $S507
Boldsn Awg), dcdesn
(1) &g
SN
) £
3
28
3 o
C
g
4 =
“4) 5 R
Rough Work
fcAal
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85,

A bullet of mass 50 g is fired from a riffle of mass 2 Kg and the total kinetic energy
produced by the explosion is 2050 J. The kinetic energy of the bullet is
50 g |85g0m2 Ho 8 s ok 2 Kg B350 do I8 Sood Deyadssd SoB08a

& Hends* ¢#18 wond Ingo #AG¥E 2050 J wond s Kok KETE
(1) 501 (2) 2000 ]

2050 ) gf\ 585.71]

86.

If the coefficient of cubical expansion of a matenal 1s “x” times of the coefficient of surfacial
expansion, then value of ‘x’ is

.8 am‘g;h: ﬁmﬁ'} WIE0Arn T Hetdn o JTeg g ﬁ.:-saﬁ;i::ﬁéo s
Biw Hod ¥’ Jend

(1) % (2) 1.5 (3) 2 (4) 4

87.

Two blocks 4 & B of mass 2M and M are moving along X-direction on a frictionless plane.
Their instantaneous position are given by ¢ and £, respectively. At a particular instant of
time T, the kinetic energy of both particles are equal. Then,

(1) atT,V>Vp (2) atT, V>V,

(3) atT,V;=Vp (4) V,;=Vjpalways

2M Soboin M (hgorden e 4 H5bcin B el dod B30 »E Db 82 doow
SO0, T8 DwE), dfm PTeo QI [ D0k £ M ond@ddd. LsTE
Sdooiosn T 8¢, & Toks Swre HBERe D3rdSn. et

(1) Tag,Vy>Vy (2) T34, Vg>Vy

(3) T&g,Vy=Vp (4) dudyds Vy=Vp

88.

A particle is executing simple harmonic motion. Tts displacement to amplitude ratio when
its kinetic energy is 84% of total energy is

2.8 Eroin $8¢ Tord)E Fossn Do), o0 K8I4 Bndo He* 84% YRy T
S, FEodsn Hooho $obs BoMEe I

(1) 1:16 @) 2:5

(3) 4:25 (4) 21:25

Rough Work
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89.

Consider two series resonant circuits with components L, C, and L,C, with same resonant
frequency, @. When connected in series, the resonant frequency of the combination is

28 alTd FB1Sghn ‘@’ EOAS Bod @ @dad Sodrost g L,C, Soboin
L,C, esofSosn. DB @FeleS® EOLSHEH & Do@rrsn Bog), wood P:PSghn

(1) 2w (2) % " (3) 3w 4)

90.

Consider the symmetric about the time axis voltage waveform shown in the figure below
The mean and root mean square values of the waveform are

Bob Sbdnd® drbity Forisn Stom S'Pe ddok 658 Bwg YT S8Kdotod.
@ ddof wiB AwE Hitw HBdckn St Soro SgSre (rms) Jesdes

V (Volts)
L
+Va e i L
o LT lor [3r |4 | 5T o e
=Va [_ _ _ e e s
0y V.V, @) Vo Vi
. |
(3) Va.. Vi (4) V_’ Va
a
91. Consider two satellites revolving round the earth at different heights. The ratio of their
orbital speed is 3:2. If one of them is at a height of 200 Km, the height of the other satellite
is (Radius of the earth is R = 6400 Km)
Bodo GBI e ardd Wiy 30, 30 IQOS* BHFLowLHD. ;8 Erg Sdo NG
32 o8S" w8 YIS 200 Km 26S* Holl, 88 adpidrsn Qg &
(s Sng), argargo R = 6400 Km)
(1) 8450 Km (2) 845Km
(3) 84.5Km _ (4) 84500 Km
Rough Work
AM 2017 3T-A Sz
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92. Diodes D, and D, shown in circuit are silicon diodes. The voltage drop (V) across the
diode D5 and the power dissipated (P) by this diode (D;) are

(1) Vp,=0.7Vand Pp,=0W (2) Vp,=5Vand Pp,=0W
(3) Vp,=0.7Vand Pp,=0.7mW (4) Vp,=5.0Vand PD2=5'W

D2
1—|<]— 43 KO
LY

BL50S" SrHnds Sochins® D 580w D, 6@rEw bOs'S drEes. D, dG3rE
D360 Sy TPe vess0 (V) doko dogs Sgo (P)

(1) Vp,=0.7 V88w Pp,=0W
2) Vp,=5V 08 Pp,=0W
(3) Vp,=0.7 ViS00 Pp,=0.7mW

{4] VDE =5.0V Jbdin PDZ =5W

93. A thin bi-convex lens (n=1.5) has a focal length of 50 cm in air. When immersed in a
transparent liquid, the focal length is measured to be 250 cm. The refractive index of the
liquid medium 1s

o8 Dendd Besogrsd LESn (n=1.5) mdS* 50 cm Tergods Srdsnd $0AHHA. : !
AR of FESGE GI50S* SnodIPd FODS Tergodd SrdSn 250 cm e (S3 '
cSr$ES0 B, SEFSS Hrssw

(1) 1.33 (2) 1.46
(3) 1.30 ; (4) 1.36
Rough Work
ey
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94.

Which logic gates mentioned below have the output value ‘0’ when both the inputs are ‘1’

Bo& 285288 O 86, wgoren, Dok T JenSen ‘17 HHdydd ‘0° IFS Deosdo 89A
Hotrron

(1) OR,NAND (2) AND,NOR

(3) AND,OR (4) NOR,NAND

92,

Two projectiles of same mass have their maximum kinetic energies in the ratio 4:1 and the
ratio of their maximum height is also 4:1. Then the ratio of their range is

2% (35508 0N Dotk (HEY SV K05 KBIR DR 4:] Bbdake T BwE, KOF
Do LA 411 ey T8 Tgge N8

(1) 2:1 @) 4 o # (%“\k
(3) 8:1 © @) 16:1 X
w{ -
_ R

96.

A motor car is approaching a road crossing with a speed of 108 Kmv/h. A police standing
near the crossing hears the frequency of the car’s horn as 300 Hz. The real frequency of the
horn is [speed of sound in air =332 m/s] 5

w8 Irird o0 o8 §'d) "o 108 Km/h 386° 52ruigdb. o 5°hofl 58 doads
O @ 5hH FED e 300 Hz &rd:psgsns D08, s 6k Qg0 G3ng), I
Fepigin [rdS® §id 5& =332 m/s]

(1) 300Hz (2) 332Hz

(3) 273Hz (4) 400 Hz %

./-’//

Rough Work . iz

. .{} ‘
: / : r—m‘,
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97. The electric field for a plane, electomagnetic wave travelling in the + y direction is shown

in figure. If the electric field of the wave E is in the Z direction, then the E field is
(1) Inthe x direction and in phase with the E field

(2) Inthe x directionand out of phase withthe E field

(3) Inthe zdirection and in phase with the E field

.(4) Inthe zdirection and one fourth of a cycle out of phase with the E field

zl\ G o]

ml

{_
{_
b1 %

+y B¥S* Boirdod o dde DEdgEchAm 08 SEoKINEKH DS FEIN HLINS*

— —
Sropdss. ddorsn Bnk, Dy §Ss E, Z 65S° 635, B 850

_}

(1) x B3S* 908 E BSod* o S46° Hodnod
_}

(2) x &¥sS* Hod E Fgod® o8 8§ Jodh
—B

(3) z 84" Hod E FFod® i &7 Hobood

_,_}
(4) z BFS' Hod 50050 SEos* i erfidn E §gos® &¥S' Hokd

98.

Two metal rods, rod-1 and rod-2 of equal length are welded together end-to-end. Under
steady state conditions, when the free end of the rod-1 is kept at 100°C and the free end of
the rod-2 is kept at 0°C, the temperature at the welded junction is approximately
[Thermal conductivity of rod-1 =92 Js ' m~'K! and of rod-2 =16 Js"' m™ ' K]

JErS >dY SOAS §§-1 K000k £§-2 wiko Dok ST Efen wf TR DIG HFES
§0% w880, §§-1 Ry DS6% 100°C 520050 §§-2 hgandSdso 0°C 5§ oS,

QoS RBS" Y[y, Dot E§v vdinds 0§ ¢ GYPrd Dirdm

[3§-1 sgarrsdesn =925 T m K Sodot 8§-2 % eposssn = 16Js m! K)
(1) 85°C (2)~ 50°C: 3) 75°C (4) 95°C

’ e
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99.

A 2 mm? cross-sectional area wire is stretched by 4 mm by a certain weight. If the same
material wire of cross-sectional area 8 mm? is stretched by the same weight, the stretch

length 1s,

2 mm? mdgﬁ‘)cﬁ FTogin fo 81 Fod erdind 4 mm Frbohadss. ud Sorging'
Dofwd 8§ mm? Sodg@d FTgodn Ao o ©od rdind FHLISHL TS
arfade

(1) 2mm (2) 0.5mm

(3) 1mm (4) 1.5mm
100. Consider two surfaces S; & S, sharing the same open circular boundary C, as shown in the

figure. If ﬁ'sl and ¢32 are the magnetic flux through these surfaces then

DB0S’ Srad dPSnm BEDS &8 [EsS 2By C7 S 5| Hobddw §; o Bodk
&H0duren Dowiotnaon wisomrin. ‘iﬂ'sl S080d0 ‘?552 e & Soth &Nbdere
ol Fdh oI od WHITTS
(1) ¢s>9s, | s,
2) ¢s,> 95,
(3) s =os, _
(4) ¢s,=¢5,=0
Sl 52 -?l:

101.

If a unit vector is represented by
0.51 +0.8] +ck
then the value of ‘¢’ is

28 Pirm 98% 0.51 +0.8) + ck B SrdoS0sd ‘¢ dend

(1 2) Jos (3) Jo 4 Jo.o1

Rough Work

Mo
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102. In football sport a banana kick is an off-centre kick that makes the ball curve or suddenly

change direction mid-air. The player achieves this by imparting revolution on the ball while
kicking. The physical principle that best describes the banana kick is

(1) Hooke’s law (2) Bernoulli’s law

(3) Torncelli’s law : (4) Newton’s law of motion

8 YOS wbS® Solrdl Grdorm wod cnd) BEiSHos: Sd)Sod © w08 JESns*
Sor o Do8geS* w8 F0m &HF5 Srdysootnod. r:iéléa?’.;da 208 00w EdAcSESD
oo sbmd 3 Ffodtod. edlbods S sdSom ol FaETY drodin
(1) %o§ dobSosn

(2) BEYD brpossm

(3) &roDY Bwg, Spodin

(4) SrgoS @ng K% dcssres

103,

A linearly polarized light is incident at Brewster’s angle on the surface of a dielectric
medium. If the incident beam is polarized parallel to the plane of incidence, then which one
of the following statement is correct? :

(1) The incident light will be completely reflected and no light is refracted at all
(2) Half of the incident light will be reflected and half of the light will be refracted
(3) The incident light will be completely refracted and there will not be any reflected light

) %rd of the incident light will be reflected and the rest will be refracted

28 B S)DE 5°08 8 H'GE SrIEED B0S00 D LIPE Fein 5§ HSSHHDHHB.
2ES 5708 Homdw IHEN dolnds DSrodbon SREDE, & Bod Tsgost I8
56587

(1) 368 5708 Twgo JTS5IHS0 Toheood HHBH 5708 Jod SrE@sn SEFSSSw
leTafal

(2) BES o8S* Bridn HTEYSS0 Bodrod Sk HHSL SEESSS0 Tokos
(3) 588 5708 Iogo HEFS5550 Bodod BN T08 Jod SrFo HoSESSH0

Bodd
(4) 385 s0dS* %;’me‘,‘u DPoSdHS0 Dodhdrod HBadn ADS s SBaSsSsn
Dodoeod
Rough Work
lﬂﬂ I
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Jed

The percentage error of measurement in &, 7, c and d respectively are 1%, 3%, 4% and 2%.
The percentage error in the quantity O is then

104. A physical quantity () isrelated to four independent observables . 3, cand das Q =

a]‘ﬂz
Jed
0B, @, B, ¢ $8a8» d & ShaTees S5Hdm 1%, 3%, 4% 90050 2% wond Q'
FaEo3s* Shrassn

Somodsng®

a, B, ¢ 5085w dwd Treorh gold Hbeden Qud Faso? O =

) 5% 2) 10% (3) 13% (4) 24%

105. An electric motor driven; pump fills an overhead tank placed at a height of 20 m from the
ground-level sump at a rate of 20,000 litre water per hour. The motor has an operating
resistance of 22Q) and is connected across a 220 V source. The efficiency of this motor is

(Use g= 9.8 m/s?)

a8 oGS Irtrdd® Sdoyd) Do grdron HoP Hod 20 m IHSW IS FJS'E
fotgo 20,000 L8 A8 TEYE JoYHB. 8 Irird o), HOBo VGBS 22Q
Sobcin oA 220 V 2585055 0%, &8 rdrd Aoog), SES

(=98 m/s* ™ 80508)

(1) 12.5% (2) 73.5%

(3) 49.5% (4) 22.5%

106. When a hydrogen atom in n = 4 state de-excites to n= | state, the wavelength of the photon
emitted [R =1.097 x 107m1] is

n=4 RS S08 n=1 %mﬁ TGRS dESraod vluduo TododSHes, STo
TS Bk, éﬁaﬁ@{g’g;&n [R=1.097 x 107m!]

(1) 97.2nm (2) 103 nm
(3) 200nm (4) 400nm
Rough Work
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107. Two circular discs with masses M; and M, and diameter D; and D, respectively are
designed to have the same moment of inertia about the axis along the diameters of the
discs. If M) : M; = 9:4 then the ratio of their area 4, : 4, is

Soth HEsd Do (SHgurdes M) Sodckn M, 500050 T8 agdres SKHHm D) S98cs»
Dy oo, & Dodo Do 78 Tgre Iowd IV vgroddomr add @EriosTen

pirSSodgly drdroBomd. M) : My =9:4 wond o8 ITerge Q8 A : 4;

(3r 3:2 (2) 2:3 (3) 49 (4) 8L:16

108. Consider a car moving at a constant speed of 14m/s around a level circular bend of radius
45m. The minimum coefficient of static friction needed between the car tyres and the road
so that the car goes around the bend without skidding is

14m/s ROIMS0S* o8 5 45m Tgrgin fo f dffo Semsd Jop Wby
BArSoDBHHS. & 5 So by T BRFSIITIB S DY B0k
S SodgHe §0g RBE D M

(1) 0.44 @) 1.0 () 4.4 @) 0.1

109. In the circuit shown below emf of each battery is 5V; and has an internal resistance of
1.0 . The current in the circuit (Iy) and the reading in an ideal voltmeter (V) are :

& fod Srdwdd Sochod' wF) ) bdn B, Dogimes wodn 5V Sibdin
©0848 AFEED 1.0 Q. Soabine' D8 BardEn () H805H 686 Feydrbbs”

RACH (V) e h '
| I |
G" v
1 1 rl
1] T ] 1]
(1} [ﬂzlﬂh,v'_{} {2} quﬁﬁl.,v=ﬂ
(3) L=1A,V=1 (4) Ip=5A,V=1
Rough Work
[cAal
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110. An oil drop is negatively charged and weighs 5 x 10~ N. The drop is suspended in an
electric field intensity of 2.6 x 10 N/C. The number of electrons the oil drop carries is

8 BOETIEIES Bo Dodd erESw 5 X Iﬂ“‘N 2.6 x 10* N/C &3¢ Ho Debogs §igos®
& Bo Doy Pt v 3o Dok p o JoFgie Bopg

(1) 8 (2) 10

(3) 16 (4) 12

111. A metallic pendulum bob of mass 300 gm contains a charge of 1 C, and 1s 5uspended bya
thread of length 5'cm. When the system is placed in an horizontal electnc field E , the bob

gets displaced by 4 cm as shown in the figure. The value of | E | 1s estimated to be
[Use g = 10 m/s?]
ad S'oY S'of FeSn BSgore 300 gm Sodbain wd¥se 1 C 28 5 cm >8P Ko

TréSnd’ Fordfobndsd. & SgEnd E Bda Darodd Ddogd o’ HoddY, ©

—r
RS0 Shing® drbd dESom 4 cm FIEodin TodIB. |E| Gxg), vobar Jend
[g=10 m/s* ™ &306%04]

(1) 4Vim

(2) 5Vim

(3) 20V/m

(4) 15V/m

112. Two long straight wires are parallel and carry current in the same direction. The current are
8.0A and 12.0 A and the wires are separated by 0.4 cm. The magnetic field (in Tesla) at a
point midway between the wires is
Bod PEDS BHIS JSrodd Sed' 23 8IS gy HIToDHHG. ¥ Sfed
©Srod Degey 8.0A Sodasn 12.0 A Htcsy e Sudg drdsn 0.4 cm Bodo Srle
g5 Do 5§ woAod Fgo (BxS')

(1 0 (2) 4.0x10™ (3} E0=10 (4) 20x 10
Rough Work
Q7]
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113. The displacement of a particle moving along x - axis versus time is given in the figure
below : :

The average velocity, V,,, of the particle in the first four seconds and the velocity V of it at

t=4sare

3 —

4 —

d&i 3

isplacement (m)

FHFoFdn (m) 2

. 0
0 TR T VR T
I 2 3 4 5 6
time (s)
o0 (s)

X - 0550 Joad SDod Endn BwE), FTIHETHN - Tuive HESH SLSNS' asidSs.

AES T WEDHOS® ¥ Swdn BE dtn Ifsw V,, bdn t=45 58 T
SB0

(1) V,,=-lm/s, V=-1m/s (2) V,,=ln/s,V=1m/s

(3) V,,= lm/s, V=0m/s (4) V,, =-lm/s, V=0m/s

114. Kepler’s second law states that the radius vector to a planet from the sun sweeps out equal
areas in equal intervals of time. This law 1s a consequence of the conservation of:

(1) Time (2) Mass

(3) Angular momentum (4) Linear momentum

520 G0k, Vods Aohidw P50, rdgd Sod BT of (IR 0D JoT TgRrgo
JErS sro G586 dSrd Jrergod DSu 008, & Johddn & 1Bob Adgdisw

Bas¥), HOS5
(1) sosn 2) Es508
(3) ok @SgANS® (4) Bbos B3gBKS0

Rough Work
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115. A proton is released from rest at the origin in the presence of uniform electric and magnetic

fields E = E4z and B = Byx. If x(t), y(t), and z(t) are the co-ordinates of the particle at
time ‘t’ then,

(1) z(t)=0 at regular periods with motion restricted to yz-plane

(2) The particle will travel along a circle in yz plane with origin as its center

(3) y(t) <0 at some time ‘t’

(4) The particle undergoes simple harmonic motion

w8 (TS DE68 Dogd $8050 @A o8 Feren E = Egz 50050 B = Bk d5ogsnes*
Soredothd 3§ Jfo 28 Dod Ide BoH2EIL. ‘T’ o 3¢ ¢ Ensw IErITe
x(t), y(t) Sobcdn z(t) ®ond

(1) yz-deord8 BRSPS SoT) L0A, B sidae ¢ z(1) =0

(2) Eeo3% ¥z €005 Sorodotdh Soon Ko wE SHdo Jowd Hoirdigod
(3) Fod sosdn T 3¢ y(t) <0

(4) S J6¢ ToEE SoS5058 HO wHKod

116. When a | cm thick surface is illuminated with light of wavelength A, the stopping potential
obtained is V. But when the same surface is illuminated by light of wavelength 3A, the

V,
stopping potential obtained is —E:]". The threshold wavelength for this metal surface is

1 cm $0850 Ko 508 N SSorBEsSS fo $088" HBEHED BobodIH:
bﬁj&?& G'E FBYDS V), 50 ©F &H8derd) 3A ﬁﬁoﬁggnsan Ho 57088° Haddswn

BoBoDSYE IE'E FBIKRS %. 8 S'HY Sosn g, o ddok PYgsn

() 2 T (2) 3%
(3) 4 (4) Sh
Rough Work
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117. A nucleus disintegrates into two nuclear parts which have their velocities in the ratio 2:1.
The ratio of their nuclear sizes will be :

2§ Bo@Esn, 21 BS' Srmen EOAS Dok BolE FrmeEIT DHbSEn BobIB.
o8 o8 So|¥¥ Bosrere ARG

1 1 ! 1
&11)/23:1 2) 1:32 (3). 1:28 Qg} 321

118. The driver of an express train suddenly sees the red light signal 50 m ahead and applies the
brakes. If the average deceleration during braking is 10.0 ms™ and the reaction time of the
driver is 0.75 sec, the minimum speed at which the train should be moving so as not to
cross the red signal is "

8 QB Jen T'EHd S5 S00d 50 m SrESnest eEIET IHY 08 Sodard)
S0, @fw . Bown HdHBd, Bt Gedibno 10.0 ms™ Sodoke 'S5
s srodn 0.75 DEdow woxd, v IHY So8a) T8 For Hokhbs, Bew
BoSrSosSDs £3% 34 |

(1) 27Km/hr (2) 115Km/hr
(3) 72 Kmvhr (4) 83 Km/hr

119. When a mercury thermometer is inserted in a pot of hot water and the reading is recorded,
what temperature is being recorded,
(1) Average temperature of water and surrounding  *
(2) Average temperature of thermometer -
(3) Average temperature of water and thermometer
(4) Temperature difference between water and surrounding

af PEOD GJSrHEind I8 D Ko Hodd® Swod 6o B Frd. $ArS
Dohwdd s & $od I Hrdiyed

(1) A% Sodcsw H0do e Ko BIPEES

(2) wxardsdn dhle sPEss

(3) Q0 B ePSrdse dibo PSS

(4) d BBCSn HOJTY eSS’ B

Rough Work
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120. A metal jar has a gas of volume 10~3m? at a pressure of 2 x 10° Pa and temperature 400K.
The jar has small hole and hence the gas leaks into atmosphere. The pressure and temperature
of atmosphere is 10°Pa and 300K respectively. If R is the gas constant, the number of
moles of the gas that has leaked into atmosphere is

wl Y 8 107°m’ 205505 resn, 2 x 107 Pa HEsS0 56050 400K SRS S¢
fo o £0a 0. 8 =48 do IFHA Jogdn Tor TNy T SdeIb
e (leak) wHs'od. srerSdedn @y, HESS0 Sobosm Gfiden S&DM lﬂsPa_
Sobasn 300K. R k088 arain RUroshn woud FSSEndns I Dddoond Tolu

Ardest
1 1
) 3z 2) &
Rough Work
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CHEMISTRY

121. Which of the following reactions will not produce H, gas
(a) Fe+ HCl dil (b) Zn +HCl dil (¢) Cu+ HCI dil (d)Ag - HCl dil

% 0d Sdgos* 2 36y Hy rastodi oddo B
(a) Fe+3ze HCl  (b)Zn+%2o HCl  (¢) Cu + sae HCI (d) Ag + Sas HCI

() acd (2) e d (3) ad (4) b.d
122. Q&R—CEX%P
10

the products P and Q are respectively

(1) 1°-alcohol and 1" - amine (2) ketoneand 1°- amine
(3) aldehyde and 1°- alcohol (4) 2°-alcohol and 1° - amine
QAN p can__RMX

H0 HT
P Ss8ck: Q Sé Mo I0Im
(1) [1°- o036 Sobaso 1°- 05
(2) 84S Sobasn 1°- hS
(3) s€>8 Soocsw |- s, S
(4) 2°- w8 Dok 1°- I5S

123. The chemical formula of *Feldspar” is

DENE B, S1HI Fspe

(1) KAl Si; Oy (2) NazAl Fe
(3) NaAlO, (4) K;S80,-Al (S0, )y+ 24H,0
Rough Work
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124, An clement with a mass number of 81 contains 31.7% more neutrons as compared to
protons. Identify the element

(85502 Jopg 81 fo of Surofindg' |Firdod FYIYd Srgrdw 31.7% sisomr
f0d. Swros) HfoSod

(1) Sc (2) Ba

(3) Br (4) 1

125. In which of the following reactions, Kp is less than K
(|) N:O,;(g, = 2N02(8) (2) ZHl(g) = Hz(g) + lz(‘)
& (Bobd Sogos’, KesoB Kpdsy, Sm o) $og 267

(3) 2505, + 0y, = 2803 (4) Ny, +0y,, = 2NO

(&)

126. Which of the following can exhibit geometrical isomerism?

(1) Tetrahedral —[Zn(NH;),Cl, | (2) Squareplanar —[Pt(NH;),Cl, ]

(3) Octahedral—[Co(NH5), 1] (4) Lincar —[Cu(CN), |

& 508 TRS' 2D Wb FEFEHe PEGOSTIOY?

(1) Seocd —[Zn(NH,),Ch] (2) dJdo S6E [ Pr(NH;),Ch |
(3) w@sndon -[Co(NH;).CI]™ (4) Bdoss -[Cu(CN), ]

Rough Work
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127. The product formed in the following reaction is:
BoB $E5S* DEAS GEHSo
OH

H»(excess)(=2830) p

Ni, 473K
Under Pressure

(bassshoa’)

OH 0

(1) (2)

(3) (4) O

128. The order of acidity of following acids is:
& (B0d siro Blds §500 !

‘00H ‘O0H COOH OOH

NO,
NO,
NO,
(1) (i1) (iii) (iv)

(1) u=>iii>iv>i (2) m=u=>i>iv

(3) iv>iu=ii>i - (4) v>iii>i>i
Rough Work
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129,

W
The molarity of a 9.8% [W] of H,S0,is

W
9.8% [W} H,S0, gy, Inerds

|
~

(1) 1M (2) 0.55M (3) 0.1 M (4) 1.LIM

. Identify all the compound(s) that are isostructural with CO,

CO, & 3% Aoppduie v SWdsro HoSed

(a) BeCl, (b) SnCl, (c) XeF; (d) C;H;
(1) ab.c¢ (2) ab,d
(3) acd (4) ab,cd
131. Identifv the correct order of equivalent conductance at infinite dilution from the given
options
ad JobBe ol 830800 S Sorgos TIrsdL VS I BBoSed
LiCl > NaCl > KCl (2) KCI=NaCl> LiCl "
(3) NaCl>KCl>LiCl 8 LiCl>KCl>NaCl
132. Fora van der Waal's gas, determine Boyle Temperature
[given a =4.5 atm L’mol?, b= 0.9 L mol™ andR = 0.082 L atm K~ mol ']
o8 ) TENIN wond PSS dgonodod
[given a=4.5 atm L’mol 2, b=0.9 L mol™ $:8a%0 R=0.082 L atm K™! mol ! axiqmasa]
(1) 609.8K (2) 609K |
(3) 273K (4) 6098 K
Rough Work
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133. Calculate the total energy of one mole of an ideal mono atomic gas at 27° C
(1) 900Cal =~ (2) 1800Cal (3) 7482 Cal (4) 0Cal

27° C 34 28 36 V8505wl wil) Taing DuE, 3ndo B2 Adesos.
(1) 9005 (2) 1800 srobes (3) 7482 swéen  (4) 05eb

134, Which of the following c;ompound 1s an allylic alcohol?
& Bod Fdrus’ D8 Q805 sy E?

CH=CH - CH, ~CH, - OH CH,0H

CH = CHCH,4

CH=C(CHy), . CH=CHCH,0H
(3) (4)

OH CHy

135. Under which of the following conditions, a real gas shows maximum deviation from the

ideal behavior
(1) 100°Cand2 atmP _ (2) 0°Cand2ammP
(3) -100°Cand SatmP (4) 500°CandS atmP
& ol cwSwdd JdoSol SO LS’ JnTcind wEl) BIGS Sod A03 o
©E8)08?
(1) 100°C Sabosn 2 wioy P (2) 0°C Sobates 2 wégy P
(3) -100°C 380k 5 wiry P (4) 500°C Ss0a80 5 wery P
Rough Work
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136. Bhopal gas tragedy was caused by
F'>E Fosn Gag i 8 Sod =06
(1) CFC (2) CH;NCO
(3) GHN (4) CH,CN

137. Duralumin is an alloy of

doreogS 3 Ang), DEFSH S'SEw
(1) Al Mgand Ni

(2) Al Cu,Mgand Mn

(3) Al Fe,CaandNi

(4) Al NiandAg

138. Assertion (A) : The conversion of diamond into graphite is an endothermic reaction
Reason(R):  The conversion of diamond into graphite is kinetically very slow
(1) (A)is correct (R) is the correct explanation to (A)
(2) (A)iswrong(R)is right
(3) (A)isright (R)is wrong
(4) Both (A)and (R) are wrong

APBI (A):  BHobH rRST 0B BB SHITEE S

sondn (R):  3HobdH malSm 08 E@cH A8adbom oer ISnBm S8y
(1) (A) 3358 (R) 85058 (A) & 535 256

(2) (A) w88 83y (R) w556 5356

(3) (A) =588 3358 (R) wHS0 &y

(4) (A) S0 (R) &SD Sy

Rough Work
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139. Calculate the reduction potential at 25° C for Fc3’/ Fe?" clectrode if the concentration

=0.77V]

of Fe2* ion is 10 times higher than Fe*~ ion [Given E° 3 f e

Fe?” ecirS mgs Fel' wakrS €08 10 3kn sdfor adsya, 25°C 3¢ Fe'  [Fe®

Jugs Bug, Eehite ) Adoges. [E

Fe'* /Fe
(n 071V (2): 0.71V
(3) 034V (4) 034V

3= 0.77 V on3gu8358 |

140.

Which of the following ores are concentrated by Froth Flotation
(1) Oxide ores (2) Chloride ores
(3) Sulphide ores (4) Nitride ores
& (fod grébPod’ B J83 BEck TRo FoBELRG?

(1) =85 e (2) 5R& Y
(3) %85 TP (4) 385 Tayw
14]1. The number of atomsina hcp unitcellsis
hep ©3rm S5 (unit cells) &* #08 S8Sree Sowg
(1) 4 (2) 8 3) 12 (4) 6
142. The Hybridisation of N atom in NO,, NO, and NH,; respectively is
NO;, NO, %0csx NH, ©¢' N $65rng Sw), So8886nsn Skdm
(1) sp’sp'.sp (2) sp,sp’,sp?
(3) sp.sp’,sp? (4) spsp, sp’
Rough Work
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143. Calculate the reversible potential of oxygen electrode in a solution of pH = |, when the
partial pressure of O, is 1072 atm [Assume E?)z 0 = 1.23V. vs SHE at | atm and 25° C]
sas 188 DESS0 1072 atm eoxsHde, pH=1 Einos' &), s§28 JoFh aus,
Q@b’&ddﬁ ¥5Q) Adodod

[Eo a0 = 1:23V.vs SHE 25° C 35808 1 atm 3¢
(1) 1.19V @ 171V (3 120V (4) 1.112V

144, The compounds that are soluble in aqueous NaOH are:
NaOH zo (ovSwos* §84 Sdydaren

éé“@ G

(11) (1i1) (iv)
(1) (i), (ii) and (iv) (2) (i), (iii) and (iv)
(3) (i), (i) and (iii) (4) (i), (i) and (iv)

145. The mass and charge of one mole of electrons, respectively is
(1) 54.8=107Kg;9.65 % 10* Coulomb
(2) 5.48 x 107 Kg; 9.65 x 10 Coulomb
(3) 5.48x 107 g;9.65 = 10* Coulomb
(4) 548 x 1077 Kg; 9.65 x 10* Coulomb

uf S Joglo @Sgore Sobdkn eIFEn SEHDm
(1) 548107 Kg;9.65 x 10° sroSy

(2) 5.48 % 107 Kg; 9.65 x 10° $re5y

(3) 5.48x 1077 g:9.65 x 10° SrolSy

(4) 5.48 x 107 Kg; 9.65 x 10* sr05y

Rough Work
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146. 4CI0y (4q) — 3CI0 4+ Cl(’_q) is an example of

(1) Oxidation reaction (2) Reduction reaction
(3) Decomposition reaction (4) Disproportionation reaction

4CI0; (o) > 3CI0 ey + Cliye,y ®38 B8 ST Ea30?

(1) whgce o3 (2) EchEsem =65
(3) dnus oj (4) wSSo>s 363
147. Actinides have higher tendency to form complexes than Lanthanides, due to
(1) higher charge and smaller size (2) smaller charge and larger size
(3) theyare radioactive (4) they are clectropositive

eodpho o8 BE38e dogPods 508 FSogeind efsom S0 Gok. Jokbgsm
(1) 58 uBdsn S0k sey H05r@n

(2) w0y sT¥Sn o005 #55 S8SrmSn

(3) =2 '65&3'5‘0‘6 .;’aa'o;w

(4) =3 &35 Qopard s ;55‘0.'.51:)0

148. Which of the following statements is true about a catalyst
(1) Itaccelerates reaction by decreasing the free energy of activation
(2) Irwill be consumed in the reaction
(3) It makes the reaction feasible by making AG® more negative

(4) Tt makes the equilibrium constant of the reaction more favorable for the forward
reaction

& @)08o HBod & Eod TS BIS Trgwy NB?

(1) odas o) 63 600D SEg 3KSodo Bdyod

(2) ©b& Soges* DABro Tokdrod

(3) AG® densido d89,5 aerd o Sh Sy 20528 Sdo BRod

(4) onbd Sog sdoarps ROOFR) YO SOg I8y S edsrvor Srdhdes
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149. Analkene that provides only Butanone-2 on ozonolysis is
(1) 3,4-dimethylhex -3 - cne (2) 2.3-dimethylhex -2 -ene
(3) 3-methylhex -3 -ene (4) 2,3 - dimethylpent -2 - ene
LETONS oo wophFR-28 Srgd o) S
(1) 3.4-3238w§-3-&5 (2) 2.3-32BETE-2- &5
(3) 3-PSTH-3-&5 (4) 2,3-238pol-2-&5

o4 150. How much PCls must be added to a one litre vessel kept at 250° C in order to obtain
s 0.1 mole of Cl, gas [K¢ for PCls . = PCly,, + Cly, is 0.0414 mol/L]

(1) 0.0341 mole (2) 0.34] mole (3) 0.241 mole (4) 0.024 mole

0.1 36 Cl, T Sodbss 250°C 5§ &F) o8 HLdh FB% Jod HOSrwSw
POl BessSoaind? [ PCly <= PCly +Cly i Ke=0.0414 37500

(1) 00341 3>»& (2) 0341305 (3) 0241 3rS (4) 0.0243=8

151. Which of the following is true with regards to nucleosides
(1) Nucleoside is formed from Nitrogen base ~ sugar
(2) Nucleoside is formed from Nitrogen base =~ sugar + phosphoric acid
(3) Nucleoside is formed only from Nitrogen base
(4) Nucleoside is formed from Nitrogen basc ~ amino acid
=4 Srgidrniot BHonobodSod J68 & \Bod TRG' JSTIL w6?
(1) 'S £o30 + oFbe Sod Sngddrps Dodeod
(2) 3E'=S géSs ~ SF0 T 5‘33365 sito f0d SrgBrns IS dssos
(3) BW'=S pose Lod SmEd SrgEdr el Ddasod
(4) RG2S posw + s size Lol Srgddrnb Sydedod
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152.4 00 il of KMnQ, solution is exactly reduced by 100 ml of 0.5M oxalic acid under acidic
condition. The Molarity of KMnO, solution is

s& S%ses' 100 ml 0.5M sgdf s, 100 ml KMnO; ESarl) ToT Easlmo
< o80838. KMnOy @md$ed o0

(1) 0.1 M (2) 02M

(3) 0.0sM (4) 05M

153, The halflife of a I¥ order reaction is 1 min 40 seconds. Calculate its rate constant
w8 PG ESrol Jdorg egaihy | A 40 DESes. ol B Hoies Ry S8 0d08.
(1) 6.9 103 min-! (2) 69x103s!
(3) 69% 105 (4) 100s

154, Tubeless tyres are co-polymers of isoprene and

(1) Neoprene . (2) Silicons
(3) Isobutylene (4) PAN

LrgiTh Bleo oRMDS DB T G, I smoPomsve: (co-polymers)
(1) d@=~GS (2) 085S
(3) =Faglos (4) PAN

155. Caleulate the wave number of the highest energy transition in the Balmer series of Hydrogen
atom [Ry; = 109678 cm™!]

TEeS 305l @Rl @SS’ w88 8 B0545S'Y ddon Sopgd B§,0H048.
[Ryy= 109678 cm"]

(1) 274195 cm™! (2) 2741.95cm™!
(3) 274.195 cm! (4) 274195.1 cm™!
Rough Work
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156. Consider that the following reaction proceeds via a Carbocation intermediate to give the

product

& o8 S0 SEFLairS Sodgy Sorgsnon 20h &) D08 rIoSod.

S g T

Which of the following energy profiles best represents the overall reaction?

& Bod #§ oy VEes* DB g IEgH o ArdH308

G- @ 4
RC ; RC =
-~ +
(3) (4)
AG AG
RC . RC ]
Rough Work
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157. Statement -1 - Acetone - Carbon disulphide solution shows positive deviation from Raoult’s law

Statement - 2 : Acetone ~ Aniline solution shows positive deviation from Raoult’s law

(1) Both statement -1 and statement - 2 are correct

(2) Both statement -1 and statement - 2 are wrong

(3) Statement -1 is correct and statement - 2 is wrong

(4) Statement -1 is wrong and statement - 2 is correct

5P | ; DS + 8'6.)5 Qﬁg& ErSesn T6 AofoSosn Sod FId)s Ddoad

BECy5308

SN 2 : AHS'S - ANOR TSeSn a'g AohHSn Lod FIdE ISOTV) @EG™300

(1) gpg -1 oS argwg - 2 dods HVS

(2) ogwg -1 &0ass gy - 2Dodr &3y

(3) agwg -] 9853 5 gy - 2 853

(4) agwg -1 853 0 Fgeg - 2 30386

158. The reactivity order of below compounds with K1 in acetone is:

Klacetone &' §ob Sidre dogio B0

cn,—c':u-cu3 CH;0CH,Cl
o
(1) (i1)

(1) m>iv>ii>i

(3) ivii>iii>i

Cl

(iii) (iv)

(2) iiziit>iv>i

(4) wiii>ii>

Rough Work
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159. Aruficial sweetenmg agent is prepared from the below strategy. [denrify the structure of
final product

& B0l o Sool Y6 65 55’ SriTAm. vudy ¢ \Ho D). TR
#Hfodcd

CHy

S0,01
3711, NHy

—_——— P
2. Kl\ln04
(0]

LA

0

(1) NH (2) NH
Tz
NS

0
S
AN

o

0

O

-
-

%
ol >

(3) i (4)

BN
7\

o]
O

160. Anisotonic solution will produce an osmotic pressure of 10.00 atm measured against pure
waterat 37°C. How many grums of NaCl must be dissolved in one litre of water to produce
an isotonic solution
37 °C 3§ o4 I8S* wf S g0 ESesn 10.00 atm (S P36e Laxd
&K 35308, IDETOI0E (@SMo IHELTIE O rive NaCl & o S

AS* gdhod
(1) 1146¢ (2) 0.196¢ (3) 901¢g (4) 10g
Rough Work
AM 2017 63-A 82




	botany.pdf
	img1002.jpg
	img1003.jpg
	img1004.jpg
	img1005.jpg
	img1006.jpg
	img1007.jpg
	img1008.jpg
	img1175.jpg
	img1176.jpg
	img1177.jpg
	img1178.jpg
	img1179.jpg
	img1180.jpg
	img1181.jpg
	img1182.jpg
	img1183.jpg
	img1184.jpg
	img1185.jpg

	zoology.pdf
	img1009.jpg
	img1164.jpg
	img1165.jpg
	img1166.jpg
	img1167.jpg
	img1168.jpg
	img1169.jpg
	img1170.jpg
	img1171.jpg
	img1172.jpg
	img1173.jpg
	img1174.jpg
	img1175.jpg

	physics.pdf
	img1186.jpg
	img1187.jpg
	img1188.jpg
	img1189.jpg
	img1190.jpg
	img1191.jpg
	img1192.jpg
	img1193.jpg
	img1194.jpg
	img1195.jpg
	img1196.jpg
	img1197.jpg
	img1198.jpg
	img1199.jpg
	img1200.jpg
	img1201.jpg

	TS Medical EAMCET Chemistry.pdf



